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Q : What is the probability of rain today ?

- X= &RAIN , NORAINS

PCRain) = -3

PCNo Rain) =7

X ~ Bernoulli (0
- 3)



How to model rainfall ? (which distribution

Q : What is the probability of stimes rain in next

10 days

X ~ Dinomial (N = 10 ; p = 3)
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& : What is rain category tomorrow ?

P

No Rain (Omm) 3
· 4

light(0-5mm)
- 2

Moderate (5-15mm)

Heavy (15
+ mm) · I

X- Categorical (1
. 3 ..

4
, .
2, 1)
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How to model rainfall ? (which distribution

& : What is the member of raindrops hitting per
minute.

X= 10 drops /min = Aug.

X~ Poisson (= 10)
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& : What is the exact rainfall (in mm) ?

X is a continuous random
variable

P (X = 3 mm) = 2.
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& : What is the exact rainfall (in mm) ?

X is a continuous random
variable

P(X = 3 mm) = T

P(X= 3 . 1415926535 mm) = ?



How to model rainfall ? (which distribution

& : What is the exact rainfall (in mm) ?

X is a continuous random
variable

P(X = 3mm) = 0

P(X= 3 .
1415926535mm) = 0

Better question : ↑ (2mmX4mm) #0

For continuous r .v ., me define probability of
instead ofage
pant
=
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Probability Density Function

4 ---

fx(x)3R
I ↳

·onee.-OI

Rainfall (in mm)

Probability density function of r . v . X :

fx(x) = Probability per unit length
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Probability Density Function
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Rainfall Lin mm)

A : Event that Rainfall blw
2 . 9 mm and 3. Imm

PLAT = Jfx(x) . do = Area under fx from. 2 . a to 3
: 1
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How can fx(u)-I ??

P(xzx(x+ 6)
=Gx(x)da = fx(x))



Probability Density Function
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fx(x)
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Rainfall (in mm)

How can fx(u)-I ??

P(xzX(x + 8) = fx(x)
. -

This is blu Rand 1 = Exlu) . - 11
with small & ; fx (x)ab

e


